January 1993

COIN DOOR
NRI
CONVERSION

for WPC ‘

3401 N. California Ave.
Chicago, IL 60618






Table of Contents

2-Slot Coin Door Parts Assembly . ....................
1-Slot Coin Door Parts Assembly . . ...................
Coin Door Interface Board Parts Assembly . ............

Coin Door Interface Board Schematic . .................
CabinetFrontView................................

NRICoinRejector. ............ ...,




2-Slot
Coin Door Assembly
09-23002-31  Australia
09-23002-33 New Zealand

Part No. Description Quantity Item Part No. Description Quantity
27-1038 Button Cover 2 30 27-1112 Coin Inlet Chute 2
27-1041-61,-2 Pricing Label (Australia) 1Ea. 31 27-1088  Cable Clamp 2
27-1041-62, -65 Pricing Label (New Zealand) ~ 1Ea. 32 271025 Key Hook 1
27-1026-17, -11 Coin Entry Plate 1Ea. 83 27-1086  Washer, #6 2
27-1016 Lock Assembly 1 34 27-1078 M/C Screw, 6-32 x 3/8 1
27-1061-1 Coin Return - Bezel 1 27-1113  M/C Screw, 6-32x 7/16 1
27-1062 Coin Return Flap 1 35 27-1079 Self-tapping Screw, #6 x 1/4 2
27-1021 Button Housing - 2-slot 1 36 27-1084 Lamp Socket 2
27-1111 Interlock Switch 1 27-1085  Lamp 2
27-1006-1 Coin Door , (with hinge) 1 37 27-1096 Self-tapping Screw, #5 x 3/8 2
27-1005 Coin Door Frame 1 38 27-1087 M/C Screw, 6-32 x 5/8 2
27-1003 M/C Screw, 6-32 x 3/16 4 39 27-1082  Lever Arm 2
5641-12724-00 Diagnostic Switch 1 40 27-1097 ~ Switch Cover 2
27-1101 M/C Screw, 4-40 x 1/4 2 41 27-1091-1  Coin Accept Chute 2
01-0885 Bracket, Diagnostic Switch 1 42 271075 Wire Form (Australia) 1
27-1037 Plastic Button 1 27-1093 Wire Form (New Zealand) 1
27-1078 M/C Screw, 6-32 x 3/8 2 43 27-1094 M/C Screw, 4-40 x 7/8 4
27-1039 Conical Spring 2 44 27-1087 M/C Screw, 6-32 x 5/8 4
27-1079 Self-tapping Screw, #6 x 1/4 2 45 27-1086  Washer, #6 4
27-1077-1 Coinbox Cover 1 46 27-1095  Nut, 4-40 ESNA 4
27-1066 Slam Switch 1 47 27-1076 Coin Return Box 1
27-1067 M/C Screw, 4-40 x 1/2 2 48 27-1078 M/C Screw, 6-32 x 3/8 2
27-1017 Nut (key) 1 49 27-1092 Microswitch 2
27-1012 Locking Cam 1 Items Not Pictured

27-1011 Locking Arm 2 50 09-8938 $1 Rejector (Australia) 1
27-1020 Washer 9 51 09-8964 $1 Rejector (New Zealand) 1
27-1018 Star Washer 1 52 27-1122 Cable for 2-Slot Door 1
27-1019 M/C Screw, 1/4-28 x 5/16 1

Purchased as part of item 30.
Purchased as part of item 30.



1-Slot
Coin Door Assembly
09-34000

ltem  Part No. Description Quantity ltem PartNo.  Description Quantity
1 27-1038 Button Cover 1 30 27-1112 Coin Inlet Chute 1
2 27-1041-64  Pricing Label 1 81 271088 Cable Clamp 1
3  27-1026-18  Coin Entry Plate 1 82 27-1025  Key Hook 1
4 271016 Lock Assembly 1 83 271086 Washer, #6 1
5  27-1061-1 Coin Roturn - Bezel ; 34 271113 M/C Screw, 6-32 x 7/16 1
6 27-1062 Coin Return Flap i 35 27-1079 Self-tapping Screw, #6 x 1/4 1
7 27-2028 Button Housing, 1-slot 1 8  27-1084 Lamp Socket 1
8 27-1111 . Interlock Switch 1 27-1083 Lamp 1
9 27-2029 Coin Door , (with hinge) 1 37 27-1096 Self-tapping Screw, #5 x 3/8 1
10 27-1005 Coin Door Frame 1 38 27-1087 M/C Screw, 6-32 x 5/8 1
11 27-1003 M/C Screw, 6-32 x 3/16 4 89 27-1082 ~ Lever Arm 1
12 5641-12724-00 Diagnostic Switch 1 40 27-1091-1  Coin Accept Chute 1
13 27-1101 M/C Screw, 4-40 x 1/4 2 41 27-1087  M/C Screw, 6-32x 5/8 2
14 01-9885 Bracket, Diagnostic Switch 1 42 27-1086 Washer, #6 2
15 27-1037 Plastic Button 1 43 27-2031 Coin Return Box 1
16 27-1078 M/C Screw, 6-32 x 3/8 1 44 27-1078  M/C Screw, 6-32x 3/8 1
17 27-1039 Conical Spring 1 45 27-1031 L?ft Support Bracket 1
18 27-1079 Self-tapping Screw, #6 x 1/4 2 46 271030 ~ Right Support Bracket 1
19 27-2030 Coinbox Cover 1 Item Not Pictured
20 27-1066 Slam Switch 1 47 27-2034 Cable for 1-Slot Door 1
21 27-1067 M/C Screw, 4-40 x 1/2 2
22 271017 Nut (key) 1
23 27-1012 Locking Cam 1
24 27-1011 Locking Arm 2
25 27-1020 Washer 1
26 27-1018 Star Washer 1
27  27-1019 M/C Screw, 1/4-28 x 5/16 1
28 Purchased as part of item 30.
29 Purchased as part of item 30.



A-14689-1

WPC Coin Door Interface Board

Part Number

5070-09054-00
5791-10862-18
5791-10862-08
5791-10862-13
5791-10862-15
5645-09025-00
5010-09534-00

J6
Q 11O0OOO%OOO|® O
3 e =
o M 8
[¢] i o
(o] ) o
»* M—([DS ) o
o —I06>— P4
0 )
&0 o
o
) os
° o
s o
o
o 5
= o
s x
o)
o o
o I -
o . 3
o || 233
(o] —‘z%m
o [y =
(o] lE fo)
o H )
O mYS »
> o OL
o) —We o
o o
o o
L3 (o)
o [
©) O
Designator  Description
D1-D7 Diode, 1N4004, 1.0A.
J1 Connector, 18-pin Header Str Sq.
J2, J6 Connector, 8-pin Header Str Sq.
J3 Connector, 13-pin Header Str Sq.
J4 Connector, 15-pin Header Str Sq.
SWi Switch DIP 8 Pos.
w2 Resistor, 0Q



Coin Door Interface Board Schematic

A-14689-1

_ "MS dIQ Jo |'mS _
_ _Hm._l == T _
_ S == 4
3 el S _
| el |
cl| =™ T3 ———
_ — Cm —5 | pieog Jeajagl
_ L 193[3S or| = 7 _ _ ._u;on__
L §/L ulog fa _M_ €elr
“ ol I/ 5UToD N _ [ Mm0Y  Ai9,/payg oN_ __|_||I||_
olfF—xe5— ———foy .
6 7 uion 10
_ 9 LR EICELE 31qeu3  gmudo |8t |_]NI _
U v MS BId  AJ4g, udp | © 6
[ ¢ Z Uo5 9L
9 T oo 8 € MmsBId ojpasuio | € ¢ _
_ 8 Z s Bla  njg, uio | O _|_ ‘
| o o L L MS B1d  uag, udg | U ﬂ w _
_ €l Mc.ow 1| ¥ Ul0D s, uap | 4L e _
_ vz ulog 1] 9 € ulod 1ybiy yg uap | ¢t _|l_ sozr |
_ L IR S Z UI0D J81Usy payyuap | €L mr _
N L ufod 1431 uag,/uao | vl _ll_
dweq[ 7 Pt Moy KJ 3 € Sl E
_ » 9/p8y pPUNOJY YO1IMS _|
Yoms qog qunid| € MEET 5 Mog 94 /710M ¥ M09  1ar/1um | € [®] _
_ youms upaso| ¢ —vuld e mog uIo/IGM € Moy uio, agm | P 1 L
_ yo1IMg Jo0Q 1uoa4| | ._Amo 7 M0g Pag/I0Mm ) Z Mmod pag,/aym | S _H“ 9 _
_ A b . S L No« el 94 ¢ L mod uug/aym | 9 v ozier [
_ ¢ ._Mo ° Z 100 pag,/uiD el Z 100 pegsuig | L U N, |
_ € Ims ” "ow M | Sk : A i |— paeog nas|
o—— =] Le | —_pEoendd
_ 1M or |
_ L punoJdg Jamog _ o
| v 3AACLT D T —l _
e ] z : VIl v ] s _
_ e Q4dKW OOO—u..P : OVAEQ OLA/IUM z _I_ ¢ _
6 [ON 90 L=
| s00q w00 vo3 L L [DTACTF grieeq ot o<>wco>mnw ¥ Uq _
_ € [DaroC 5qA0ZT| © ON _
_ v [DTAOS+ 3qA0S+] - ﬂ nN
_ 9 [PUNOID ToM0g pURGIg TeMOT] ° _ €l aur _
_ : M T_ nN _
S [FATIQ/T 19/ 01A aAlJQ/1 Alg/0tA L] _llL v._oom_
| Z [BI6/7UMm zr| | __dealg Jemog
_ | [peg/uig _
_I sr pJeog 998JJ4aju| J0OQ UJ0D



Cabinet Front View

A-14689-1
Coin Door Interface Board

Normal Coin Door Cable
Plugs into J3 of A-14689-1

*Coin Door —

*Ribbon Cable

* See chart below for ordering details.

Coin Door Complete
A-15909-2 ®
A-15909-3 @
A-15909-4 ®
09-23002-31 ©
09-23002-33 @
A-15909-1 )

Coin Door Sub-assembly

09-34000 o ® | @ | o0
Not Applicable ® | ©

Ribbon Cable :
5795-12859-01 ® | e o
5795-12859-02 @ @
5795-12859-03 ®

NRI Rejector

_Willams Part No. / NRI Part No.
09-33000-2 G13-0010/2-200 ®
09-33000-3 G13-0010/2-022 ®
09-33000-4 G13-0010/2-203 ®
Not Applicable  G13-0004/1-517 L]
Not Applicable  G13-0004/2-517 L J
09-33000-1 G13-0010/2-003 ]




NRI Coin Rejector

See Note
Removable —
Cover ‘ R
Disable Coinage Chart Label
l—'-—l (Located on the other side;
ON see chart for coinage
DIP Switches (Inside; —>< %)
see chart for setting) See Note
1 3 4
Enable

(\b
> P K\
'\\Q}\ W \6\ & be’(\ &
& V@\t\ B &F &S

Coinage Chart Label < ©
Position 1 .05 .05 5 1A 1A 1
Position 2 .10 .10 20 5A 5 2
Position 3 .20 .20 50 / 10 5
Position 4 1 1 / / 1N 1E
Position 5 2 2 / / J. 2E
Position 6 J. A / / J. 5E
DIP Switch Settings
E=Enable / D=Disable
Position 1 D D E E E E
Position 2 D D E E E E
Position 3 E D E D E E
Position 4 E E D D E D
Position 5 E E D D D D
Position 6 D D D D D D

It is recommended that two locating pins be used when installed in a WILLIAMS/BALLY Coin Door.






